25 (L AS K (P2 B E 2 JRAE)

BRSFEQ2IF)E K B M & £ &

20234FHE ¥ K K B M A&

; &
B L TR

100 o
fatt "
0.003 0.0003
0.0005 0.00005
0.01 0.001
0.01 0.001
0.01 0.001
0.02 0.002
0.04 0.004
0.01 0.001
10 0.1
0.8 0.08
1.0 0.02
0.002 0.0002
0.05 0.005
0.04 0.001
0.02 0.001
0.01 0.001
0.01 0.001
0.01 0.001
0.6 0.06
0.02 0.002
0.06 0.001
0.03 0.003
0.1 0.001
0.01 0.001
0.1 0.001
0.03 0.003
0.03 0.001
0.09 0.001
0.08 0.008
1.0 0.005
0.2 0.02
0.3 0.03
1.0 0.01
200 0.1
0.05 0.005
200 0.2
300 1
500 1
0.2 0.02
0.00001 0.000001
0.00001 0.000001
0.02 0.005
0.005 0.0005
3 0.3
5.8~8.6 o
REL =
RERL =
5 0.5
2 0.1

kA | _4H128 5H8H 6458 | 7H18H | 8416H | 9H6H | 10411H [ 11H13H [ 12H12H | 14150 | 2A1H
HH BiEE S 171 466 1058 1943 2572 3178 4110 4783 5602 6025 6365
1| — A {8 /mL, 0 0 0 0 0 0 0 0 0 0 0
2| R - fatk Ptk Fatt Fatk Katk Bt ket bt Ptk batk Ptk
3| HRIV LR UZDLEY mg/L — 0.0003 A1 . == — | 0.0003 A | =] 0.0003 A | —— 10,0003 A
4 KK OZDLEY) mg/L, — 0.00005 A4 ... — ] 0.00005 A [ —— = 10.00005 K| —— =] 0:00005 A
5| L R OZDEY mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
6|8h R D2 DI E mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
7|ER K OZDLEW) mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
8| Aflizn b mg/L — 0.002A7 o - 0.002:A1 o o 0.002.A o o 0.002A7i
9| i fig iR P 2 5 mg/L — 0.004A7 o - 0.004A1 o o 0.004A o o 0.004A7
10| > T AAA L R OMHES T | me/L — 0.001 A o o 0,001 AT oo s 0.001 At i o 0.001 AT
11| FHRRRESE R R OV RREZE R | mg/L 0.7 0.7 0.7 0.8 0.7 0.6 0.5 0.7 0.6 0.7 0.7
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